>~

r

MH = 0

20168 & Z0l4a LESIA OlcHE =S Y2

FAEE E A A

B R
Zo: DRl Yst

Eiel: @AY 23 (e &8)
- _ — Pl
SN FH - SR(EA) - MRAY - BES 0] &k o8 it BlRE2
Ol et e gt 8,537,543 4,394,740 4,142,803
Xl 2,235,000
= 28,347
i 6,274,196
OleHdstAer 2st 136,620 5,000 131,620
SEAIY =& 136,620 5,000 131,620
DdELNMALRA 136,620 5,000 131,620
202 (44| 9,120 0 9,120
01 =LHOYI 9,120 0 9,120
OXAIY A= 04l 9,120,000 9,120
203 YR F&H] 2,000 0 2,000
03 AIHF=E AR =Y 2,000 0 2,000
O& A Al ZH =&Y 2,000,000 2,000
306 £H3 5,500 5,000 500
01 &3 5,500 5,000 500
OetZXNIXUEME &3 5,500,000& 5,500
401 Al HIZ 2 CHHI 120,000 0 120,000
01 A& Y| 120,000 0 120,000
OM==Xl =BIHLAMS EIEHHBE EEH
20,000, 000& 20,000
OFE2Z2AY JI=2XALE S (POOL)
100,000,000 100,000
SOHEIIBEH 426,491 0 426,491
Xl 317,000
= 28,347
i 81,144
SHE FHAX Jlet&as 426,491 0 426,491
N 317,000
= 28,347
o 81,144
SHE FHUXS MEBHH HEAY 15,000 0 15,000
401 Al & HIZ 2 0HHI 15,000 0 15,000
01 Al&€HI 15,000 0 15,000
OsHEHAXNSG HE0AH ALY OlHIALS
HE A Y 15,000,000& 15,000
SHE FHAXG ME0HH HEAMG(BX) 411,491 0 411,491
N 317,000
< 28,347
o 66,144
403 MRS S K201 A 411,491 0 411,491
Xl 317,000
= 28,347
s 66,144

|
—
|



CDlHEEgE2
D sHEIIBEY

P SOHE FAX ogEs

(&4

- _ - &4
S R(B) - MIRAY - BES Ofl &t 24 it HI B S
02 SISOt A= AL I 411,491 0 411,491
Os&s =22 FHANS WAL
411,491,000 411,491
X 317,000
S 28,347
= 66,144
S 243t 3,805,760 0 3,805,760
X 1,900,000
= 1,905,760
S oohg 3,805,760 0 3,805,760
X 1,900,000
e 1,905,760
UINE st HE 3,800,000 0 3,800,000
X 1,900,000
o 1,900,000
401 AIE2HIZ 208 3,800,000 0 3,800,000
X 1,900,000
o 1,900,000
01 Al2H 3,734,640 0 3,734,640
ORdlEs 2 A A 3,734,640,000& 3,734,640
X 1,867,320
o 1,867,320
02 Zeld 55,100 0 55,100
OFddatat A A
3,800,000,000& * 1.45% 55,100
X 27,550
= 27,550
03 AIE =0 10,260 0 10,260
OFdgata A A
3,800,000,000& = 0.27% 10,260
X 5,130
o 5,130
Sing =24 5,760 0 5,760
202 04H| 5,760 0 5,760
01 =Wl 5,760 0 5,760
SIHg =8 bl 5,760,000& 5,760
SN 19,260 28,940 A9,680
SAF 19,260 28,940 A9,680
s PNPAL 18,760 28,940 A10,180
201 224l 8,000 20,100 212,100
01 Ab=22teldl 8,000 20,100 212,100
OFN=I 82= MX
5,000& * 2& = 8000H 8,000
202 ol 5,760 3,840 1,920




SN DlfE S
R = PEE AR

=Rl SRR (et dd)
o - — AL
SA B ER(S) - MRAE - BaS 0f &r e HIDE
01 =UWo 5,760 3,840 1,920
OFXRA =4 044 5,760,000 5,760
203 =&l 5,000 5,000 0
03 Al =Y RFAH 5,000 5,000 0
OFXRi 8285 =3l 5,000,000& 5,000
SXog A& 500 0 500
201 et 500 0 500
01 At 22l 500 0 500
ORIy T M 100,000& * 57H 500
58435t 441,720 274,800 166,920
X 18,000
Ea 423,720
gdistg =0 441,720 274,800 166,920
X 18,000
Ea 423,720
gdstg ey 26,720 18,800 7,920
201 2erE gl 17,600 18,800 21,200
01 At22t2ll 10,000 10,000 0
OmMsts 22 ME(MI L 25 S)
10,000,000 10,000
7,600 8,800 A1,200
=
2,500,000& = 12 2,500
&2 SHO0IX | XIE==H
5,100,000& * 13 5,100
202 04H| 9,120 0 9,120
01 =UWo 9,120 0 9,120
Ogdstg =4 ofdl 9,120,000 9,120
ASdsded gAY 30,000 20,000 10,000
X 18,000
Ea 12,000
201 2erE g 30,000 20,000 10,000
X 18,000
Ea 12,000
01 At 22l 20,000 10,000 10,000
OdisstsdH 29 20,000,000& 20,000
X 8,000
Ea 12,000
03 At2 I 10,000 10,000 0
Od=gdsts el 28 10,000,000& 10,000
X 10,000
BMsts Z20H 293 260,000 231,000 29,000




2N DlEE S
B PSS
CHol: BASE 23X (=L R0
SA B ER(S) - MRAE - BaS 0f &r e HIDE
201 224 140,000 121,000 19,000
01 At 22l 68,000 66,000 2,000
Oopte stsud 500,000& * 1108 55,000
OHM27| d=stE UM 2dnd
8,000,000& 8,000
Oodi=sts LM S3td 5,000,000 5,000
03 WAL= HI 72,000 55,000 17,000
OfbI2 gdotatuil =4 20,000,000& 20,000
Ozl 4 15,000,000 15,000
OR22 Mots stust =¥ 7,000,000 7,000
OBz iy st 10,000,000 10,000
Ogdsig g fAds 5,000,000& 5,000
Oogdsis =M 15,000,000& 15,000
307 eI2toId 120,000 110,000 10,000
02 QIZtF S AIHE X 20,000 20,000 0
ogdstgsotel XA 20,000,000 20,000
05 22t &= 100,000 90,000 10,000
ONew-1ife Ot2tCIOI 50,000,000 50,000
Ogdstsud 40,000,000 40,000
O2of A& E 10,000,000& 10,000
Ngell=sd 125,000 5,000 120,000
307 212tol & 125,000 5,000 120,000
05 22t &= 125,000 5,000 120,000
ogoza =2¢ 120,000,000 120,000
OERI0stn 5,000,000 5,000
=ESuUE=A A 3,679,000 4,086,000 407,000
AT DL 3,679,000 4,086,000 407,000
wEsI| 22 x 3,679,000 4,086,000 407,000
306 E¢= 1,919,000 2,486,000 A567,000
01 Ed= 1,919,000 2,486,000 A567,000
os4&<s Ji= 1,000,000,000& 1,000,000
Ogestl 84 JI=(Sd=8 N sdet
o) 919,000,000 919,000
308 AtXIHMSOIH 1,760,000 1,600,000 160,000
08 WEIIZH0IHSHE = 1,760,000 1,600,000 160,000
OusI| 20 thet 2&=(PO0L)
1,500,000,000& 1,500,000
O+ st FYAML 200,000,000& 200,000
OG22l Lty tiEsty NIAE
60,000,000 60,000




: 7I§%4|:|I(DIEHX*E*%*;D

CDlHEEgE2
D A AH (0|2

T oo o=

& 2kcichat ?AE)
CHE SR (S) - HRAY - BAS e 2
2B (0leidestegat) 28,692 0 28,692
Jl2dl (0l M eetetat) 28,692 0 28,692
=&l 28,692 0 28,692
201 LBt 20,042 0 20,042
01 At 22l bl 18,355 0 18,355
Oget==H| 4,200,000& 4,200
OZ gA I (AMRA - AT 805
-HEE 10,0002 » 2304 230
-HSE 25,0002 = 2304 575
O=¢&tl 4,230,000 4,230
O=A| itz 380,000& = 1CH = 128 4,560
OHFEHHIALE FH| 4,560
“ZHZEHDI 3,000
- ElH 300,000& * 10H = 45 * 23] 2,400
cd 300,000& = 1CH * 23l 600
—UBITEIE DI 200,000 * 3CH * 23] 1,200
—-FAX 120,000& * 1CH = 33l 360
02 25234l 1,687 1,687
O EEH KRAE+HI 1,687
-CHIsS AR 1,300,000& * 15CH * 5% 975
-T2l 0| 4,000,000& * 5CH * 2% 400
-= A 15,000,000 = 1CH * 2% 300
-FAX 600,000 = 1CH * 2% 12
202 (44l 2,400 2,400
01 =0 Y] 2,400 2,400
Obleidet L= 04l 2,400,000 2,400
203 R F&H] 3,000 3,000
04 RN2ILRFAH 3,000 3,000
OFRN2IEHRFEY| 250,000& = 12& 3,000
405 KH&bE SHI 3,250 3,250
01 &R =S FSHI 3,250 3,250
OUXEottiet = 500,000 * 104 500
o2& +¢ 350,000& * 14 350
Oools=s1 +¢ 500,000& * 1JH 500
OCIISARI1I] 2 (SH0IA)
1,300,000  1CH 1,300
OAR Al A 20 (SH0[AF)  300,0002 * 1K 300
OAMSA oIXt 2 (SH0AF)  300,0002 * 1K 300




